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FIPS PUB 140-1
DHABREET—2E 10Mbyte

ST S5

//1-20.000bit

FIPS PUB 140-1 test #1

F—5

The monobit test X= 9.916 |pass (pass if 9.654 <X £10.346)
The poker test X= 26,304 pass (pass if 1.03 <X <57.4)
The runs test
Run length Zeros COnes

1 2.436 2.477|pass (pass if 2,267 <X <2,733)

2 1,263 1,250|pass {pass if 1,079 <X <1.421)

3 655 659 |pass {pass if 502 <X <748}

4 315 315 [pass (pass if 223 <X <402)

5 154 124|pass {pass if 80 <X {223)

6+ 159 156 [pass (pass if 90 <X <223)
pass {pass if all twelve counts pass)

The long runs test pass {pass if no long run)
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FIPS PUB 140-1 test #2

//20,000,001-20,020,000bit

The monobit test X= 10.053 | pass {pass if 9.654 <X <10,346)
The poker test X= 6.2016|pass (pass if 1.03 <X <57.4)
The runs test
Run length Zeros Ones

1 2467 2,469 |pass (pass if 2,267 <X <2,733)

2 1,248 1.251|pass (pass if 1,079 <X <{t.421)

3 659 641|pass (pass if 502 (X <748)

4 329 317 |pass (pass if 223 <X <402)

5 155 162 |pass (pass if 90 <X ¢223)

6+ 131 150 |pass (pass if 80 <X <223)
pass (pass if all twelve counts pass)

The long runs test pass (pass if no long run)

FIPS PUB 140-1 test #3

//40,000.001-40,020,000bit

The monchit test A= 10,118 [pass {pass if 9.654 (X <10,346)
The poker test X= 9.7984 |pass {pass if 1.03 <X <57.4)
The runs test
Run length Zeros Ones

1 253 2,487 [pass (pass if 2.267 <X €2,733)

2 1,268 1,253 [pass {pass if 1,079 <X {1,421)

3 613 614 |pass {pass if 502 <X <748)

4 320 348 |pass {pass if 223 <X <402}

5 155 153 |pass {pass if 80 <X £223)

6+ 134 165 [pass (pass if 80 <X <223)
pass {pass if all twelve counts pass)

The long runs test pass {pass if no long run}
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FIPS PUB 140-1 test #4

//60,000,001-60,020,000bit

The monobit test xX= 10,079 [pass (pass if 9,654 <X <10,346)
{The poker test = 9.2032 |pass {pass if 1.03 <X <57.4)

The runs test
Run length Zeros Ones

1 2495 2,536 |pass (pass if 2.267 <X <2,733)

2 1,300 1,243 |pass (pass if 1,079 <X <1.421)

3 636 608 [pass (pass if 502 <X <748)

4 306 309 |pass (pass if 223 <X <402)

5 157 164 |pass (pass if 90 <X <223)

6+ 130 164 [pass (pass if 90 <X <223)
pass (pass if all twelve counts pass)

The long runs test pass (pass if no long run}

FIPS PUB 140-1 test #5

//79,980,001-80.000,000bit

The monobit test X= 9.9681pass {pass if 9,654 <X <10.346)
The poker test X= 13.96481pass (pass if 1.03 <X <57.4)
The runs test
Run length Zeros Ones

1 2577 2,520ipass (pass if 2,267 <X <2,733)

2 1,225 1,306 {pass {pass if 1,079 <X <1421)

3 604 618 pass {pass if 502 <X <748}

4 323 206 |pass {pass if 223 <X <402}

5 144 144 [pass (pass if 90 <X <223)

8+ 171 150 pass (pass if 90 <X £223)
pass (pass if all twelve counts pass)

The long runs test pass (pass if ne long run}
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LET,

B _R—ICBRTAN—R YT PO E R

RIlEES SR A

eToken R2 %, DES-X (120bit % —) M5 7 A-FY X LZ L T ET, ZOBAERL, eToken R2 AEET,
TRTOME T —FOEEb, BILPa2—PRIET o bailBildF v JL AR ADEHE A IZfE
ALTWEY, ¥-ZOREX, PC LOFBERET SOOI S/ BRI P L THERTD
ZEMTEES,

22 RNG R—2DF v L AR R B

3.1

eToken R2 {37 5 b+ L —FEASN—RAICUBRELER AL AL OO Ed, 2heé ko DES-X B
REIZED, ot A BEA TV E T, DN/ SR — 2R+ 5 L&, eToken R2 T ¥ AR F vl
UEERRASYE, PC IZEVET, LARVAIIRMAL TW B AT —F e Sh 1, Zhicky,
eToken {3 BT SFRIC R AREH o2 — 3R 1TV ET,

HERBICETRIOT I3
eToken R2DF /3= kD N—F0 =7 BABER ~— UL TOETH, UTICEE RS LY
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FudizdddIaToiay

eToken R2 (X, HEMIEEF a7 {bE&hiov(raavrbo—5L EEPROM THERERTVWET,
EEPROM {239~ TO7F =R 408, a—¥ . F—2omt 5742 MERROREIIv A
703 b —F I B REN ¥ —IZ LD DES-X TH S{b&h T EEPROM IZH#ISh £, ZHhom%—
(120bit B, {722 FiEIZE->Th, BEAHLAZD T 7EALN 52813 TEEHA,

32USB F—H-+3T74u0IIF 2 T0F L3y

eToken R2 ~DaV A BRINT LML >TOAR, ERE~OT 7 AN ielcedlbicg, &
DF—FOIZ 74y NI EITEBSLENE T, 71y 7 DIF SRz AR IC S B RS C AR
S5 120bit RO Ev L3 —EEALT DES-X TA YR ATIThI ET,
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L7c#o T, USB 8552 RA=y 7 r—HBTHRITLIIELTL, £ 0P 723 TFLABINS
USB IZEDHEIR EEFAHSOEE CTHEITLLSEL TLTEERA,

33 PUoLRAIZHTHIATFI Ay
eToken R2 NODFUE T —F DHEIAHRLFERIL, eToken ~0Z A FBILIZEVDH, TREIZZVET,
By AL, ELDTEELREX 2V T AV AADNRBRTEDIT YL P L AR AFRIZL 2 TO BB
THH, MR TFrL - PER EROISNCEEBEEBBII IO BESETNET, ZOISIT, VARV A
EIXERET ¥ MIERTDIEICIE, DES-X THELLTHETOT, IS 7 E#sE L THITT
LR — R THIERHVER A,

34 Wiz HTaToian

 eToken R2 vA7oa ba—FCERTET r— Y= TiL, T2 EALEDRO L0+ BT LR TEE
Wy ZOTW NIT T ERBEL T, Eie A onasba—5-F v AR A OB R LT
2L BELILORFEXRATIEZOLOEERLILL THRFRETT,

35 A ii—ITEFUk
Forri—e BT AL, THRE AL, HBVERE AERA RSB AR AEVIC R o TVBD
& ERLEY, BEEMLRARLZMICEWKRT, tXal)T (- F (A TREERERFEED -2 T
WY,
eToken R2 i, WEAREBITDI-HANIICT /R TAICIE, NIV REEL 2V IRVITHIZ LA T
T E—BABETRLE T AILETEE A, BRBTTRAF v IO IO TN T A
BASNTEY, X B2 BEAI LI LR TEYEY,
EHITHL, 20X SR O TH L AT A, [P X8-IEC 529 DE5KBHRALHEILTEY, Hhik
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FIPS AB H0H Tost Rowdk ol
Rasults of FIPS 140-1 Spacifisd Tests on samplad
data: cds{ 1Mbyte)

//1-20000
The manobit tast  [X= 10105)pass (pass if 3654 (X <10346)
Tha poher test X= 18.0728lpass (pass if 1.03 <X <574}
Tha runs tast
Run langth Zaros Ones
1 2539 2479|pass (pass if 2267 (X {273D
2 1246 1249|pass (psss if 1079 <X £1421)
3| 625 639]puss (pass if 502 <X <748)
4 302 316)pass (pass if 223 <X <402)
5 154 186]pass (pass if 90 <X €223)
G+ 144 160|pass (pass if 00 <X <223
pass (pass if all twalve counts pass)
The long runs tast pass (pass if no long run)
//£1000001-1020000
The monobit tast  [X= 9914Fass (pass if 9654 <X <10345)
The pokar tast X= 11.0336[pass (pass if 1.03 <X (57.4)
Thae runs test
Run length Zeros Onas
1 2417 2481 puss (pass if 2267 <X €2733)
2 1285 1277 |pass (pass if 1079 <X <1421)
3 657 B18|pasa (pass f 502 <X <74B)
4 304 33|pess {pass f 223 (X €402)
5 161 145]pass {pass if 90 <X €223)
& 15% 150lpass _|(pass it 90 <X <209
ass (pass if all twalve counts pass)
The long runs test pass IL” if no long run}
/ /200000 1-2020000
The manobit test  [X= 9938|pass (pass if 9654 <X C10346)
Tha poher test X= 10.752[pass {peass if 103 <X <574)
The runs test
Run length Zaros Ones
F 1 2518 2480[pass (pass if 2267 (X {2733}
2 1232 1314[pass (pass if 1079 <X <1421}
3 30 612fpass {pass if 502 <X <748)
4 an J00jpass (pass if 223 <X <402)
5 1586 165|pass (pass if 80 <X €223)
&+ 166 142]pass (e’ss if 90 <X €223}
ass (pass if alf twslve counts pass)
Thes long runs tast pass {pass if ne long run)
/73000001 =30 20000
The monobit test |X= 9946 [pass (pass if 9654 <X <10346)
The pokar test X= 14 4192|pass {pass if 1.03 <X <574}
The runs test
Run length Zaros Ones
1 2479 24921pass (pass if 2267 <X €2733)
2 1208 1246]pass (psss if 1079 <X <1421)
3 628 606 |pass (pass if 502 <X <748)
4 ar 303 |pass (pass if 223 <X <402)
5 169) 150|pass (pass if 90 <X <223)
B+ 170! 165]pass (pass if 90 <X <223)
lpass (pass if all twelve counts pass)
The long rung test pass (pnss if no lang run)
//4000001-4020000
Tha monobit tost X= 9991 |pass (pass if 9654 <X <10346)
Tha pokar test X= 17 7728|pass (pass if F 03 <X <57.4)
Tha runs test
Run tength Zaras IOnus
] 2476 2467|pass (pass if 2267 <X <2733)
2| 1236 1249]pass (pass if 1079 <X <1421}
3 604 600]pass (pass if 502 <X <748)
4 316 309|pass (pass if 223 <X <402)
5 150 164]pass (pass if 90 <X <223)
Bt 173 166]|pass (pass if 90 <X <223)
Eass (pass if all twelve counts pass)
Tha leng runs test pass (pass if no long run)
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FPSAB HH Tt Rt

Results of FIPS 1401 Specified Tasts on sample!

data: cds(1Mbyte)
//1-20000
Tha monobit tast _ |X= 9973 [pass ](pass if 9654 <X <10346)
The poker test ___[X= 12.864{pass  l(pass if 1.03 <X <57.4)
The runs test !
Run langth Zaros Ones ]
1 2455 2579|pass (pass iF 2267 <X <2733)
2 1278 1158}pass (pass if 1079 <X <1421}
3 835 621fpass (pass if 502 X <748)
4 26 306[pass Hpass f 223 <X <402)
5 186 186[pass {pass F 80 ¢X (223}
6+ 13§ 151[pass {pass if 90 (X (223)
pass {pass if all twefva counts pass)
The iong runs test pass. (pass if no long nm)
//1000001-1020000
The monobit tast  [X= 10050 [pass (pass if 9554 <X <10346)
The poker tast X= 11.5264{pass (EassiHDS <X (574)
The runs test
Run length Zaros Ones
1 2554, 2550|pass (pass if 2267 <X <2733)
2 1283 1301 |pass (pass if 1079 <X <1421)
3 651 617|pass (pasa if 502 <X {748)
4 32 294|pass (pass if 223 <X 402)
5 127 167 {pass (pass if 90 <X <227}
B+ 145 142|pass (pass # 80 <X {223)
pass {pass if all twalve counts pass)
Tha long runs test pass {pass if na long run)
//2000001-2020000
Tha monobit test  |X= 5987|pass (pass if 9654 <X (10346)
Ths poher test X= 29 5952]2;53 (pass if .03 <X {574}
Tha tuns tast
Run langth Zaros Onas
1 2501 25094pass (pass if 2267 <X €2733)
2 1239 1216|pass (pass if 1079 <X <1421)
3 [)3] 640|pass (pass if 502 <X <748}
4 338 337]pass (pass iF 223 <X <402}
5 160 165)pass (pass if 90 <X <223)
&+ 151 135[pass (pass if 90 <X <223}
[psss ipass if all twelve counts pass)
Tha long runs test pass (p_assi'f no long run)
// 300000 1-3020000
Tha monobit test  |X= 9869 |pass (pass if 9654 <X (10346
Tha poker tast X= 15.3855]|pass (pass if 1.03 <X <574}
Ths runs test
Run langth Zeros Onas
1 2481 2521 |pass (pass if 2287 <X <2733)
H 1227 1251 |pass (pess if 1079 <X <1421)
3 647 636)pass (pass if 502 <X <748}
4 kEH 297|psss (pass if 223 <X <402}
5 160 155|pass {pass if 90 <X <223)
B+ 157 144|pass (pass if 90 <X €223}
pass (pass # all twalve counts pass)
LLhe Jong runs test pass (pass if na long run)
/ /4000001-4020000
Tha monobit test  [X= 10048 |pass (pass if 9654 (X €10348)
Tha poker test X= 17.0176pass (pass if 1.0J <X £57.4)
The runs test
Run langth Zaros Onss
1 2511 2462 |pass (pass if 2267 <X <2733}
2 1219 1242|pass (pass if 1079 <X <1421)
3 E12 62d|pass (pass if 502 <X {748)
4 6 335pass (pass if 223 <X <402)
5 172 143|pass (pass if 90 <X <223)
&+ 150 173pass (pass if 90 <X <223
pass (pass if all twalvs counts pass)
The long runs test pass (pass if no long run}
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Rasults of FIPS 140-1 Specifiad Tasts on sampled

data: c4s(2Mbyte)

//1-20000
The manobit test  |X= 10105[pass (pass if 9654 (X <10346)
The poker tast X= 18.07224|pass {pass if 103 <X <57.4)
The runs test
Run length Zaros Ones
1 2539 2479|pass (pass if 2267 <X <2733}
2 1246 1249[pass {pass if 1079 <X <1421)
3 625 638[pass (pass if 502 <X {748}
4 302 JE[pass (pass if 223 <X <402)
5 154 166[pass (pass if 90 (X <223}
B 144 160|pass |lpass if 90 <X €223
pass {pass if all twelva counts pass}
The long runs test pass (pass if na long run)
//2000001-2020000
The manobit test }X= §938|pass (pass if 8654 <X <10346)
The poker tast X= 10.752(pass {pass if 103 <X ¢57.4)
Thes runs test
Rurn length Zeros [Dnus
] 2518 2480|pass (pass if 2267 (X <2733}
2 1232 1314|pass {pass if 1079 <X ¢1421)
k| 630 612|pass (pass if 502 (X €748}
4 am 300[pass (pass if 223 (X €402}
5 156 165|pass (pass if 90 <X <223}
B+ 165 142|pass (pass if 90 <X €223)
nass (pass if ail twelve counts pass)
The long runs test pass I(pass if no Ioni run)
/ /4000001 ~4020000
The monobit test  [X= 9991|pass (pass if 8654 (X 10346}
The pokar tast X= 177728 pass. (Ess if 1.03 <X <57.4)
The runs test
Run length _:_!:'ros Ones
1 2475 2487 |pass (pass f 2287 <X €2733)
2 1236 1249|pass (pass if 1079 <X ¢1421)
3 €04 B00|pass (pass if 502 <X <748)
4 318 0%|pass (pass if 223 <X <402)
5 150 16 |pass {pass if 80 <X <223)
6+ 173 166 pass (pass if 90 <X <221)
Eoss (pass if all twelve counts pass)
Tha long runs test pass (pass if no long run}
//6000001-6020000
The manobit test  [X= IOGUJFass (pass if 9654 <X <10146)
Tha poker tast X= 17.3696|pass (pass if 1.03 <X £57.4}
The runs test
Run langth Zaros Ones
1 23N 2408 |pass {pass if 2267 <X <2733)
2 120 1263|pass (pass if 1079 <X €1421)
3 635 622]pass (pass if 502 <X <748)
4 a2 299]pass (pass if 223 (X <402)
[ 165] 158|pass (pass if 90 ¢X <223}
6+ 1591 173)pass (pass if 90 <X <223)
Fss (pass if all twelve counts pass)
Tha long runs test pass (pass i no long run}
//8000001-8020000
Thas tnonobit tast  |X= 9929|pass {pass if 8554 <X <10346}
The poker tast X= 124572|pass {pass + 103 <X <574)
The runs test
Run length Zaros Onsas
1 2559 2571 |pass (pass if 2267 <X <2733)
2 1248 1316[pass (pass if 1079 <X <1423)
3 617 587 [pass (pass if 502 <X <748)
4| 323 287|pass (pass if 223 <X <402}
5 179 152|pass (pess if 90 <X €223)
8+ 140 (pass if 90 <X €223)

152[pass
Eass

The long runs tast

pass

(pass if no long run)

(pass if all twelve counts pass)
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FIPS PUB 140~1 Test Result Details
Results of FIPS 1401 Specified Tests on sampla2
data: cds(2Mbyts)

//1-20000
The manobit test |4= 9973|psss (pass if 9554 <X <1D346)
The poker test X= 12.864]pass (pass if 1.03 <X <52.4)
The runs tast
Run langth Zoros Cnes
1 2455 2579|pass (pass if 2267 <X €2733)
2 1219 1158|pass (pass if 1079 <X <1421}
k] 636 621|pass (pass if 502 <X <748}
4 326 306|pass (pass if 223 <X <402)
5 156 186|pass (pass if 30 <X 221}
g+ 139 151]{pass (pass if 90 <X <223)
pass (passialjiwalva counts B.n(ss)
The long runs test pass [ipass i no long run)
// 2000001-2020000
The moncbit test  [X= 9987 pass ]i?'” #F 9654 <X <10345)
The pokar test X= 20.5952[pass (pess if 103 (X (57.4)
The runs tast
Run length _Z,P__"“ Ones
1 2501 2509(pass (pass if 2267 <X (2733}
2 1239 1216[pass {pass if 1079 <X <1421}
3 815 €40(pass {pass if 502 <X <748}
4 336 237|pass (poss if 223 <% <402)
5 160 165|pass {pass if 90 CX €223)
6+ 151 135|oass (pass if 90 <X €223)
lpns (pass if all twatve counts pass)
Tha fong runs test pass (pass if no lang run)
//4000001-402_0_000
The monobit tast  |X= 10048 |puss (pess if 9654 <X <10346)
The poker tast Xz 17.0176)pass (pass if 103 <X <57.4)
The runs tast
Run length Zaros Onas
1 251 2462 |pass (pass if 2267 <X <2133)
2 1219 1242|pass (pass if 1079 <X <5421}
3 812 624|pass (pass if 502 <X <748)
4 316 335)pass (paes if 223 <X <402)
5 172 143|pass (pass if 90 <X <220)
&+ 150) 173|pass (pass if 90 <X <223)
h:ass (pass if all twalve counts pass)
The long runs t_est pass (pess if no jong run}
//5000001"602_0000
The monobit test  [X= 10025]2353 (pass if 9654 <X <10348)
The poker test X= 18.8864|pass (pass if 1.03 <X ¢57.4)
The runs test
Run langth Zaras Onas’
1 2497 2426]pass (pass if 2267 <X {2732}
2 1278 1294|pass (pass if 1079 <X 1421)
k] 584 641 |pass ipass if 502 <X <748)
4 315 340|pass {pass if 223 X <402)
8 160 161 |pass (pass if 30 (X <223)
6+ 167 132 pass (pass if 30 (X <223)
Ipass (pass if alf twslve counts pass)
The long runs tast pass (pass f ne long run)
//B300001-8020000
The menohit tast  |X= 10045pass (pass if 9654 <X ¢(1D346)
The poker test X= 19.8%12[pass (pass if 1.03 <X (57.4)
Tha runs tast
Run length Zeros Ones
1 2489 2499|pass (pass if 2267 <X <2733}
2 1252 1221|pass {pass F 1079 <X <1421)
3 601 604 |pass {osss f 502 <X (748)
4 n3 303[passe {psss f 223 <X <402)
[ 161 157 |pass {pass if 90 <X <223}
6+ 157 18Y|oass {pass if 90 (X <223}
pass {pass if all twalve counts pass)
The long runs test pass {pass if no long run}
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